
Problem 1 According to the Book the vector potential in- and outside an
evenly charged thin shell with uniform charge is

Now we want to find the magnetic field inside a rotating sphere with a even charge
distribution all over. We need to integrate "R" over thin shells from from 0 --> R and
notice that the definition of the function changes at each shell (at "R") the derivative
is discontinuous there.



and the magnetic field is

The magnetic field is definitely neither constant any more, in direction nor 
magnitude as it was in the rotating shell










